                                         NATURE OF SCIENCE
                                               CHEMISTRY 9
Question 1 . The reaction of the following pair produces a white precipitate?
A. CuO and H2SO4.
        B. ZnO and HCl.
C. NaOH and HNO3.             D. BaCl2 and H2SO4
Question 2. Which of the following substances works with water?

A. CuO; CaO; Na2O; CO2
B.BaO; K2O; SO2; CO2 .

     C. MgO; Na2O; SO2; CO2.
           D.NO; P2O5 ;  K2O; CaO
Question 3. Which of the following, when dissolved in water, gives a reddish purple liquid?


A. KOH            B. KNO3
  C. SO3

D. CaO

.

Question 4. Which ozone range affects water?
A .K2O; CuO; P2O5; SO2                    B.K2O; Na2O; MgO; Fe2O3
C. K2O; BaO; N2O5; CO2                   D.; SO2; MgO; Fe2O3;  Na2O   

Question 5. Which of the following moist gases are dried with CaO ?


A. H2 ;  O2 ; N2 .
B. H2 ; CO2 ; N2.



C. H2 ; O2 ; SO2 .  
D. CO2​ ; SO2 ; HCl.

Question 6 . The water-based substance that produces the aqueous solution is
A. K2O.

B. CuO.

C. P2O5.

D. CaO.

Question 7.Which of the following substances has the highest percentage of oxygen?
            A. CuO                          B. SO2                           C. SO3                       D. Al2O3
Question 8 .What substances work together?
A. Mg and HCl         B. BaCl2 and  H2SO4       C.  CuOand HCl      D. A,B and  C. 

Question 9.Which of the following metals works with water at normal temperatures?
              A. Cu
B. Al


C. Ba
D. Fe

Question 10 .The solution turned purple paper into red?

A. NaCl                 B. NaOH
C. H2S                    D, BaCl2
Question 11. Dissolve completely 9,6g metal R in H2SO4​ hot condensate get 3,36 l SO2 (standard conditions) . Finding metal R.
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Question 11
Call valence highest of the R : x 

Number mol SO2  :  0,15 mol
2R       + 2xH2SO4 hot condensate            R2(SO4)x + xSO2 + 2xH2O

0,3/x mol                                                            0,15 mol

So MR = 32x (g)

 - If  x = 1 then MR = 32 ( species)
 - If  x = 2 then MR = 64  so R :  Cu.

 - If  x = 3 then MR = 96 (species)
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